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B=['305748", "1/NEE", "1/NEEE ]

FOP i in Pange(3):
print(A[i], ":",B[1])

A=[[ I%E/IEI ,100,20,85], [ _‘£~.I )
95,99,75], [ '[aik",89,73,92]]
for 1 in range(3):
sum = ©
for j in range(1,4):
sum = sum + A[i][]]
print(A[i][e], 455", sum,"

")

A = [40,80,75,20,96,69,50]
B =206
S =0
=for 1 in range(7):
= if A[i] < 6@:
B = B+1
- elif A[i] > 9e:
S = 5+1
print('>90',s,"'"{&#")
)
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print('<60',B, &’
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-def factorial(n):
= 1if n <= 1:
return 1
= else:
return n*factorial(n-1)

n = int(input('FEsm A\ —EEES

")) I

8 “while n < 0:
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n = int(input('z3E&m A\ —EIEE
20'))
print(n,’'!=",factorial(n))

def gcd(p,q):

- if p > g and q !'= o:
return gcd(qg,p%q) i

= elif g >=p and p != @:

return gcd(p,qg%p)

= elif g ==
return p
= else:
return g
p =
q =
print(p,’ '.'— NP fﬁ%_i_J:i’df_{: "y

gcd(p,q))
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